www.Padasalai.Net www.CBSEtips.in

TsioM Tenkasi District Common Examinations
Second Mid Term Test - November 2022

Standard -9

MATHMATICS
Time: 1.30 hrs Part-A Marks: 50
I. Choose the correct answer. 7x1=7

1. If the diagonal of a rhombus are equal, then the rhombus is a
a) Parallelogram but not a rectangle
b) Rectangle but not a square
c) Square
d) Parallelogram but not a square
2. The interior angle made by the side in a parallelogram is 90° then the
parallelogram is a

a) rhombus b) rectangle c) trapezium d) klte
3. In the figure, O is the centre of the circle and ZACB = 40° then
ZAOB =
a) 80° b) 85°
c) 70° d) 65°

4. A chord is at a distance of 15 cm from the centre of the circle of radius 25 cm
the length of the chord is

a) 25 cm b) 20 cm
c) 40 cm d) 18 cm
5. The distance between the two points (2,3) and (1,4)is _
a) 2 b) J56
c) V10 d) 2
6. If (x+2, 4) = (5, y-2) then the co-ordinate (X, y) are
a) (7, 12) b) (6, 3)
c) (3, 6) d) (2, 1)

7.1f the co-ordinate of one end of a diameter of a circle is (3, 4) and the
co-ordinate of its centre is (-3, 2) then the co-ordinate of the other end of the

diameter is
a) (0, -3) b)v(O, 9)
c) (3, 0) | d) (-9, 0)
‘ : Part-B
I1. Answer any 5 questions (Ques: 14 is compulsary) 5x2=10

8. The angle of a quadrilateral are in the ration 2:4:5:7. Find all the angles.

9. The chord of length 30 cm is drawn at the distance of 8 cm from the centre of
the circle. Find the radius of the circle.

10. Find the value of x in the given figure.

CON
\__/

11. Show that the following points A(3,1), B(6,4) and C(8,6) lies on a straight
line.

12. If the mid-point (x,y) of the line joining (3,4) and (P,7) lies on 2x+2y+1=0,
then what will be the value of P?
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13. Find the co-ordinates of the point which divides, the like segment joining the
points (3, 5) and (8, -10) internally in the ratio 3:2.
14. Find the co-ordinates of a point P on the line segment joining A(1,2) and

o KR
B(6,7) in sub a way that AP =§AB.

Part-C
III. Answer any 5 questions. (Ques No. 21 s Compulsary) S5x1=5

15. Show that the bisectors of angles of a parallelogram from a rectangle.
16 In the given figure, ,cAB = 25°, find ~.BDC, ~DBA and ZCOB

18. Show that the point (11, 2) is the ce

ntre of the circle Passing through the
points (1,2) (3, -4) and (5, -6)

19. The Mid-points of the side of a triangle are (5, 1), (3, -5) and (-5, -1). Find the
co-ordinate of the vertices of the triangle.
20. In what ratio does the point P(-2, 4) divide the line se
A(-3, 6) and B(1, -2) internally?
21. In the given figure, AB and CD are the parallel chords of 3 circle wi
Such that AB=8 ¢m and CD=6 cm. If oM
LM is 7 cm. Fine the radius of the circle.

gment joining the points
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Part-D

IV. Answer any one questions. 8x1=8
22. In which quadrant does the following points lie?

a)(3,-8)  b) (-1,-3) ) (2,5) d)(-7,3)

Plot the following points in the co-ordinate plane and
conclusion about the resulting figure?

(—51 3)1 ("1r3)f (013)1 (51 3)

join them. What is your
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